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I Accessibility of Ynp "»10a to each other
"N — permissible

nm 1 - forbidden

R" — only 'R 'R are permitted
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definition of mpav (who are banned): *a oK ,pINY and 'm> (Samaritan)

meaning of rule (p"n)
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possibility #1: 9081 ;W M 1N (#7-10) — rejected:
1 already taught: "R mwn
2 additionally: nmn 1 dissents — cannot disagree about pav and 'R marrying, since X"1’s opposition is to that
cannot mean: in re: NN N - since that isn’t mentioned
rather (interpretation #1 - 7777 37): means “all who may not enter n11n3 Ynp may marry each other”
1 including: girl younger than 3 who converts - contra »”awv1 who permits such a n1va for nnn
(a) challenge: why not set it up as including a N1 who's older than 3 and include all?
(b) Answer: position is self-defeating >less than 3, who may marry jn3 (as per »”aw1) may not marry each other?
(i) defeated: less than 3, who may marry 172 (*”av1) may also marry each other!
(c) Additional challenge: rule isn’t without exceptions — n%9n ,nnr ,nY ,NINOR may not marry 13 nor Yy 09
(i) additionally: implication is that if they are N33 Ynpa ®12% Amn they may not marry each other
(ii) explication: 93 may marry nnd but may also marry namn
rather (interpretation #2 — N’ywIN 72 jn12 *7) — anyone whose daughter may not marry a jn3 may marry each other
1 including: a 7 who married a n7v3 (as per *”ar1 who prohibits n1n>% 03 na)
2 challenge: if a Y9n marries Y87’ N3, daughter may not marry 103, yet they may not marry Snp »109
(a) answer: follows 'RNOYT " (in re: Y9N N2 may marry §n2)
3 challenge: - may marry jn3, may not marry 5np *109 — but mYR7w" 73 N2 may marry jn3 and may marry 5np '21090
rather (interperation #3 - max 72 737): p’n and N "1 disagree about extending mArn to mn»3 *2»n or only 77an »a»n
1 challenge: already taught (»:7 mna mwn -v. 1)
rather (interpretation #4 - 837):°"1/p"n disagree (?) about »arim mny
1 p"n—they may marry each other
2 nmi 1 - doesn’t disagree; although he forbids narnna 13, that doesn’t apply to "1y 3 (who is Ynpa 125 MOR)

II  xmmaregarding effect of Y87 naa Hnp *9100 Nr»a
P"n — any of them (rnm 55N ,Pmy XM2,M1TR 70 AR 1ny) who have nkva with a Y87 na — render her nnnaY% nv108
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source: from 3"na% nanYr — the nr»a is forbidden = she is Y9N 2> 1w »¥n renders Y8IW’ N2 a nYon

0V "3 — only if the child of such a union would be n1¥13% 104 is the woman rendered n%va
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source: from 3”n3% mnYR — the child is a Y9n = she is a nYon > »nw »x¥n doesn’t render YRIW> N1 a NYYn (as per v. 2)
however: = »ax »10y 7 do render her N o9

»"2v7 — if you may marry his daughter, you may marry his widow (= "y 71 doesn’t render her %109)
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source: from 3”n3% mnYR — all of the children are 055N = "0y 71 only makes males 510

note (87on ) all (32w ;o "7 ,p"n) agree that Ny NINdR is NNNIY NH10a
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Explanation: an ninboR of a 103 who was, perhaps, a Y9n (was mixed with others) is an N>y NindR

Proof: even »"avn, who is most lenient, rules that if you may marry his daughter, you may marry his widow
1 And: since you may not marry his daughter (no>y minbr na), she herself is 111135 NS00

Contra: 2”3 PN "N YW1 1 — DY MINOR is permitted, as she is a Rprav pao

1  pov if her husband was a Yon

2 oo her status is derived from his, not inherent to her = ®p*90 poo
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